Company	AMTZ Medpolis So	AMTZ Medpolis Square 4554 Pvt Ltd Name of contractor CH John salman		Sl. No. site	bills reg.	174			
Project/site	AMTZ 4554	gerfag Die gave i in die volgewiche voorde keep die jedoorde die die die die die dat een die verdeerwoons de dat	Nature of work	Towards HT t	rench work toward a	Dt. site bills reg.		29-11-2025	
Block no.	AMTZ 4554		Work done from date	06-06-2025		M-codex bill ID.			
WO no.	NA	arakan kananan Projekte diki pidan persama (kiki mila lilana da menda Nobel mila mila lilana kiki menda da me	Work done to date	25-11-2025		WO issued	?	yes	
WO date	NA		Contractor bill no.	NA GS		GST bill red	quired?	NA	
Sl. No.	. Unit/floor no		Details of work		Qty	Units	Rate ID	Rate	Amount
				×					
1	South side	Soil Dressing work			361	sft	CL101	2.00	722
						2.			
2		Brick laying work			541	sft	CW126	13.00	7,038
3		Dust shifting and la	ying work		361	sft	LFT102	2.00	723
4		Shabad laying work	ς		361	sft	TF239	10.00	3,609
5		Trench PCC work		*	2	cum	RCC235	3,431.00	8,492
6		Trench PCC Layin	g work		361	cum	EW154	7.50	2,70
				4					22.200
							Add GST @	0%	23,289
					Tota	l amount in	cluding taxes f		23,289
Remarks:		-					- and takes i	or work done	20,20
Approved By Property BY			Approved by QS team			Approved by Director/E&D team			
Sign: T. Reyen Karry		Sign:			Sign:				
Date: ~	ate: 29 m 2 Date: Date:								
aken. 7 . Directe	p aprojectiviment s or include – Solian, Anand M	greater than 10k QS manager Mehta (for GHT + GMR), Sao	ntractors. 2. This word form must be and directors approval is required. thin (for Vivopolis), B. anand Kum be bill to site and QS by email. 11. Co	6. For bill amount less t ar (for NGH + NRK). 8	han 10k any QS team memb . Entry of rate ID is mandat	ber may sign and tory, 9. This shee	in place of director s	sign of respective E&l	D member to be

ESTIMATE SHEET					Approved by:	T rajesh		
Company N	Name:	AMTZ Medpolis Square 4554 Pvt Ltd						
Project:	darka alberra nanopel ne ulakupyt a upanja amanjain malapian dark <u>unani angi kanaja na a</u> kina dalamang da b	AMTZ 4554						
Work Desc	ription:	Towards HT trench work toward along south side.						
Prepared B	AND THE SECOND PROPERTY AND ADDRESS OF THE PERSON OF THE P	P.b Sivakumar						
Date:		29-11-2025						
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total	Remarks
1 Sout	th side	Soil Dressing work	361	sft	2	722		
2		Brick laying work	541	sft	13	7038		
3		Dust shifting and laying work	361	sft	2.25	812		
4	e kind ada jihindiga ilikuli kali kali kali kali kali kali kali ka	Shabad laying work	361	sft	10	3609		
5		Trench PCC work	2	cum	3431	8492		
6		Trench PCC Laying work	361	cum	7.5	2707	The Second Secon	
						23379		



MEAS	UREMENT SHEE	Т								
Company Name:		AMTZ Medpolis Square 4554 Pvt Ltd Ap		Approved by:		T rajesh				
Project: AMTZ4554			Sign:							
Work I	Description:	Towards HT trench work toward along south side.		Work start	date:	24-11-2025				
Contra	ctor:	CH John salman		Work end	date:	25-11-2025				
Prepar	ed By:	sivakumarpb		Date:		29-11-2025				
			A	В	С	D	E	F=AxBxC	G	H=Sum of F
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Unit wt/m	Quantity	Units	Item Head Total qty
1	South side	Soil Dressing work	180.46	2.00		1.00		360.91	sft	
2		Brick laying work	180.46					541.37		
3		Dust shifting and laying work	180.46	2.00	1.00	1		360.91	sft	
4	Andreas March Control of March Control o	Shabad laying work	180.46	2.00	1.00	1		360.91	sft	
5		Trench PCC work	55.00	0.60	0.08	1		2.48	cum	
6		Trench PCC Laying work	180.46	2.00	1.00	1		360.91	cum	
			1 1 2 2							

Measurement Sheet



Labour Charges CH John salman AMTZ Visakhapatnam

Date: 29-11-2025

In favor of:

M/s. AMTZ MEDPOLIS SQUARE 4554 PVT. LTD.

Project/Site:

AMTZ4554

Location:

Visakhapatnam

Type of Work:

Electrical- HT Trench works

Towards:

Labour Charges

S.No.		Description	Amount
1	_	rk: Lift Scaffolding tying and removing ide 2 ducts for strome water line.	
			9,316
	Total amount:	23,289.00	

Amount in Word: Nine thousand three sixteen Rupees only /-

Sign:		
		-
	Sign:	Sign:

Allowance For Equipment CH John salman

AMTZ Visakhapatnam

Date:

29-11-2025

In favor of:

M/s. AMTZ MEDPOLIS SQUARE 4554 PVT. LTD.

Project/Site:

AMTZ4554

Location:

Visakhapatnam

Type of Work:

Electrical- HT Trench works

Towards

Allowance For Equipment

S.No.		Description	Amount
1		ork: Lift Scaffolding tying and de & NW side 2 ducts for strome water	9,316
	Total amount:	23,289.00	y .

Amount in Word: Nine thousand three sixteen Rupees only /-

Sign:		

Allowance For Consumables CH John salman

AMTZ Visakhapatnam

Datas	29-1	1	2	Λ	7	5	•
Date:	29-1	1	-2	v	L	J)

In favor of:

M/s. AMTZ MEDPOLIS SQUARE 4554 PVT. LTD.

Project/Site:

AMTZ4554

Location:

Visakhapatnam

Type of Work:

Electrical- HT Trench works

Towards

Allowance For Consumables

S.No.		Description	Amount
1	Breif description of wo	rk: HT trench work toward along south	
	side.		4,658
			1,000
	Total amount:	23,289.00	

Amount in Word: Four thousand six hundred and fifty eight Rupees only /-

Cian.	
Sign:	